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Georg L. Fuhrmann Testudo Gallo-Germanica (1615), p.90. Encoded and edited by Sarge Gerbode.

6) Rhythm flag missing in orig.
5) Note one course higher in orig. Same in next bar and bars 31 and 54,55,56,71.
4) Note added by editor. 2nd bracketed note one course lower in orig.
3) Rhythm flag double value in orig.
2) Note one course lower in orig.
1) Notes added by editor to continue the sequence.
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5) Rhythm flag one position to right in orig.
4) Rhythm flag missing in orig.
3) Note one note lower in orig.
2) c in orig.
1) Note one course lower in orig.
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3) Notes added by editor to fit rhythm
2) Rhythm flag double value in orig. also, 1st bracketed note one course higher; 2nd one inserted by editor to honor the rhythm.
1) Mangled bar replaced by editor. See Appendix for original.
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2) d in orig.
1) Rhythm flag double value in orig.
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